_hl-.}_t._lt__@]._h;."ﬂr‘gwi-fHil"\-l-ll:"1I SUIENCE & ARp

= ol = ABILITY)
8 PART — |3
NOTE: (1) Part-I1 1= (o be nttemipted on the sepumte Answer Bagk,

{1} Attempt DNLY FOUR questions from FART-IL by s I
¢ ERRENg TWID el

| ALL quentions carry EQU AL mark i feeen RACH
1 e CETT 1. ! SECTTION
|Ifl.F .-'L.. the parts ({Tanyt of enih Question must be attenmnied i [LEH]
Liv) Writc L No 1o e Answes Bk dim o rlance v kth _L pince maiend o 'I'!'I"\-'f"'-l‘|||'\;.'|-.._
(¥) N0 PageiSpace be lefl blank beiween the miswe .-'-.Ill ||”-.'IE -Paper
Crossed ; = ank pages of Answer By 0% ey b

1) Extra attenint of any question or any pan of the question i)
[uesting wil| j

(Vi) Use of Calculator is not allowed, v e conalderod

(SECTION - A)
L}' -! 1-'-|.| W E]_||, 1% the r”!"l-'l'l.'l'llll':!'.

| and Hepatitis? Explain brisfly (5
1) I '|.|'-] 1N the mec) - i
e e mechanisr e ie Cible i
@ B g '_ sm of Fiber Optic Cable for signal Explain s construction (5)
min the difference bebues .
(d) Whai | '~ P Middle Latitude ¢ velomes nnd Tormadoes [5)
B 1E dilterence betwee - S
titerence between flie lonie and Covalent bonding? Ciive canmples (5) 120y
Q.3.(a)  Whnt is differencs ha
i Wi s ditlerence between Plastics and Elastics? Expluin briefly (3)
(b) .
nnt s role of Remote sensing and GIS in environmentul Seience? Disenss briefly.  (5)
i<l What are Kepler lows related to thie motion of plancts? {=)
di ¥ LN 4 i
{ What 1s difference between preservativies and antioxidants? Discuss brefly with (53 (26
examples,
= e A o T L 1 Fa X -
Q.4.(a) Whatisrole of Ca bohydmites and Vitnmins in the body? Discuss brieily. (2)
(b)  Discuss the functioning of Liver and Pancreas, (3)

(e} What are the standards of 1!:1||k::11_'_ wiiber? How: Heny v Metals in the water affect the  (5)
living organisms?

(d) What is H'lllh!"-11-'1i"-'i[}"’ Ihscuss the laws of mdioactivity, Naome two madioactive (5 (20}
clements

Q.5 (n) What are the Plont nutrition elements? Enumerate them (5
(k) What is difference between software ind hardwaore? Give five oxamples of each. (5}
[c) What are the types of carthquake waves? Discuss them, {5)

(dy Whatare longitudinal waves, electromagnetic and Gamma radinhions? Discuss them.  (5) (20)

(SECTION - B)

Q. 6. (a) [If the sum of four numbers s 105, "n’l."tls:n_ll_'!- 15 ndded In_ o mmmber, twice of another  (5)
number, five times of third number and fourth number become equal o each other
What are these numbers in ascending order?
{b) Find out the correct word from the given jumbled spellings - (5]
(i) UCTREUTRS (i) LOVONAC () CIHPROSTATAL
(iv) YNTIAUMH (v) NNTHORER
T 3 T B ot 13)
(- Find the missing numbers in the Series below h .
& (121, 11, 81,97, 7 () 100, 50, 25,7, 6,25 (1D 4, 9, 64, 125, 1290,
(iv) 2, 5,12,24, 48,7 (v) 44, 22 66, 33, 132, 7
andd unit digit is 12. The (5) (20)

(d) If the sum of three digit number 15 15 and sum of 10°

L sl 1 e tliwt mher'!
difference of unit digit from 10™ digit is equal to 02. What is the thres digit nu
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CENERAL Kn
= '-1’1-"-'-]—"—'-—'-@ L {GF NERAL SCIENCE & ABILITY)
Q-7 W) Aman i il
IHHl”:"lt_'l"”-'” UVer the path of o ght angle trinnple having b TR livpotenime 4 (5
e lometer, respectively, Afler g vomplete round he" coniie i'_ “Hilaedy :
WIeChion IOE '..”._ il then i L] 0 SnTT

a1 M) degree and G LRER TS

long he |
18 he has i leud and B i he i

(B)  Hpssun i

Huunj

for another £ km. How
Iroum hi Starting paoing?

Akbar, M
Hassan'y ok
A8 mich ae Wi

Nosir and i o AL

and Bhahbae gre of
Money 18 one {hird g
Akbir has thrice o
IV they get B 3

esmmes having different pocket (53

% much os of Ali and All has five times
S muoch as MNasir ""‘I.T"NI“';:-]':'-‘.E-'.*." equal i
VUMD then find the pocket money of cuch
el What will e the U e
{¢eh) Distribute R, 4 320 i

parts-then Aslam ets

Erea and volume of i '.p'l-.".l‘ it has a redius of 7 mi (5}

18 Loin, Aslam srl Aghrafl in such

n Wy that if zatn gets 2 {53 2y
three tarts, whereas Anhraf gety s

EVER parts

Q. 8, {8) A man Purchioses o cur in an amount of s, 2400000 1

2 n which he payvs one-fourth {5
extra as profit '

Find the original amount of car and the amount of profit

() Twelve men can complete a joh

M twenty-four doys. After foor days four perzon | (5)
gipt. [n how many days

this job will be compleled by the remaining persons.

(€) The shadow of n 10 m tall
. IF the tree 15 200 m
souree’!

tree 15 falling on o high rise building and its height is 100/ (5)
away from the wall, st what distance from the wall is the Light

3 B mfE i 4
(d) There are three cars and start moving in such a way thet car A and B are moving (5} (20)
opposite with speed 60 and 100 km/Mh, Car C is moving perpendicularly to both with

speed 80 kmvh. What is distance after 15 minutes between {i) Aond B (i ) A and C
{iii) B and C?
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